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Tollowing equation: X = att +(B/A)
The dimensions of B.L
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, where x is the distance, tisthe

B Pr

IE‘L Caonsider the

$ime and v is the speed .
D _i) 2 ;BDB) 1278
N2 .Thex cgznﬁ;ﬂent of vector A is-3. ¢ and the ¥ component is —4 0 rit. The magpitude of
it makes with the positive x-axis is: e -
. = ©)5.0m; 127°

3 and the ahgle that
Ay1em; 1277 @&p5.9m; 53-1°
.y m5.0m; 307° E) 5.0m; 233°
the sum o_gtwo vectom§ =3i—2j— 2k and C=28—] 43K such

—4 o
4 is added to
e
PES-Ti+3-k

7. A vector
Tar At B+€=-21 _The vector A is:
A)--5i+3] ' B)—52+5j-ié -
_ai+4i-k E) -3t +3j—2K
initial velecity Yo and reaches its maximun

tically upward with an !
1 —vol2?

e, a\{ter i_t was thrown, Wi

Jov 6 S N 2 ;
aﬂé = / N‘l _

B4 N\ 0

D)18s

)= 2—4t T 4t% where ¥

ant when its

in a straight ] :
mfs) of the truck at the inst
AX\'g

it have velocity

4. A ball is thrown ve
height inds. At what tim

a truck moving L
the velocity (

—65. The velocity of
seconds. Find
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: aeceleration is 20 m/ s¢. ~

: a )0 D)45
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B’I[/s(\l/,}gj‘! use g = 10m/s> N

£2 4 Ct3 . If this equation ig -
+BBand C are constants. The S

f
2 . : t) = At
/ :velocityof a pa‘rticlc is .gi've_n by the eqt_zanon_ ;:;E(ze)ﬁme, ’
1ensionally correct, where v is the velocity, 1
tof the constant Bis? -

4
; : 2 /g3 B.m /s
. 1/s? B. m/s3 C. m/s? D.m*/s
® ol " i % . i Jation is correct is:
;e; e’ji ¥ 2 For the vectors in the figure, swhich one of the following re ‘

xg’* .| A& F-D=4+T B. €+BF—-{d+D)=0 f
/’ i —’ = i
M . BF-d=D+C A+B+C€=~D

AE}:‘V" = B O +_. //D; z \'z'“ e :E?.g 17
= E. B+C=4-T '
o/ y L
/‘ — - — =4 d—2:

v ’/3:114:5 = —5 I + 3 J, the magnitude og the vector B sothat B = — gf_l 1Sl
) : . A :

] A.Vi3 B. v2 Gv5 D. V8 _E.V18 : Ve
) : 4__ 3 ‘ -

;f 4. If the magnitude of A and E are 4 units and 3 units respectively and the resultant is 3 units
; The angle between the vectors. A and & in degrees-is: o -

. s ] c
‘The head of vector B 77’1
- onthe tail of vector 4

A.90 B.120 . C. 68 .

D. 48 ° E20 -

-
.

An object moves from point A to point B with a speed-of Sm/s and comeback fi
. om B t
w_zth speed of 3m/s. The average speed of the object is :- : i

A-444m/s BS54 - 2.40m/s

D. 5.33m/s  E.3.75m/s
b 1Dleo |B |o
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; P . t 1.e dimensions of B are: 2 :
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4 the Gna) velocity (in m/s) &t point B.

?'-.‘1.3 101' 118 A ST

. 100 m apars, ip ) secc:nds Fin
ay IS /@50 £} 119 i " d)3s
e ations, which one is :ﬁﬁ%‘?

; Dfthe folow ing situabor
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—

Lot

veviny velocity east end acceleranﬁn west, B
. . )74
zcosieration. L~ may

: ina wariable veiocity snd constant 200
ik
on. & m,)a {,;b[

tavinz velocity =ast «i and acceleration east
e S~
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' e ——— ., e o ag o
¢) 10m/§ ~ g3 13 ms

5}} :.6 m/s

da 12 3
tieaily from grout d Javel is

- 08 ,ﬂﬁ:rll_lhmwn T2
QRS ” =

i

~ﬂught 4 g later by a person o1 balco

T ;'Pg_’;nd The int ﬁ,ivpezd {mmfs}oxthe:ba-l is
D ____,___——-—-

fdm a..{ﬁ:" =
d) 194

a) 36.2 u—"’ B3t €} 132
—— /——_— “ == = = ____‘_,______,..—-
QE}_’ What is iaﬁ angle between the vectors A=3i—J g nd B=2{-5j"

L)’} @3 8° 60"
4u Lmts in length and positive ¥ componﬁm

= a:; 29.3°
Q7: ,5 vector Ahas posmvc s cm}ponmt

tengrh. What is the magl nitade of the >ecmvi vector, B ’\w hen added 'QA wes

calive ¥ component 4 umts in length?

yector with n % COmPORS ent aad NG
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g . = g2t The dimensions ofa BTG "
‘ s : 4. LT?

L3
L a. T

timetis
2.077 s

a. 461m

"’64:— An object is moving on

AmJs. the time required for one revolutionis:”
A __..__-3__2,'._,[2_,.___..-_._.__._1‘-:._.1!2!2 - .

Lo et amle 12 1
Q5-Aprojecdisis il

jn the horizontal direction.

- yordi s e in theters is given
2:-The coordinate ofa particlem _ N
ks in seconds. The particle is momentarily at rest at

' O3:- airplans is in level fight ! A
gvh'at disp'tance should it release a heavy bomb to hit the target on the

2
b. - LT3 LT

by x (£)=32 —67 , where the
d.73s

& 1778 /135

ond a speed of 150 km/bh. At
earth? =
4. 2550m 5.
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b. 454m c. 420m
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. ¥ /) RN

aen fon the lemofl building vdth anduitat velocity of 40 ™8
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A /
a3Sm/s’ B39 mfs 0/3 A8 /s d.41 mfs
y W
Q6: If A=3i-4F, B=21+3] ,ond C=1+2] whatis the angls that the vector
: " —A-B+C makes with the positive :-axis? :
(= 143° a0 P hlb'-.
IR 227 e, 217

d. 233°

ey A -

For this part answer Q7 and Q3

fslg:ojectile is Jaunched swaight up at 60.0 m/s from a heizht of 0.5
eer cliff. The projectils falls, just missing the ciff and‘;ﬁtﬁnv fh’e
- x =

184
b AT

.08 ime i
Q&: The time it faies

{1) 18.55

Q7;The maximum heig:

2t of the iojectile shoy s P F
r LOLLT 2D c‘i_ha it T B s
(t) 222m : poat of fring is

{c) 44

(@) 205m
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Name: Spuead, E Z =S Section: - —0 Number: <A} -
. . e =
1. Given A= 4i—2j and, B=-i +7. The magpitade of AXB iz,
(2) 7.44 Y474 - f/asﬁ?g (& 447
(&Ll s ) problém the angle that A +B makes with

2. In the previous

the y-axis is, WL i

(a)27* - (b)31° (c) 63° f /& o . G\
arl iclé, the velocity of <

i The-ﬁ'gure shows x(t) graph ( csi=3ll) for certain p

th {article st inm/sis,
. Aa) zero (b) 028 L (d)]:': ;
A, A stonie is thrown from the top of a hill with initial velocity 0£20 m/s at-
; et after 2 5. .The height (gl ofthe

/" “ap angls of 37°.1f it reaches tho gron
hill is, ) ¥ ’
{a) -80 m (b) 8.1 m - 4.5 m Sm.
7o orihe stone velscity ast before -
AN

2 For the previous problem, the ma]

i1 hits the ground is, : .
() 63.2 m/s ®)236mis () 669 m qm(@ﬁv 7 mls.
rding to the equefion (As=d tean)

6. A particle moves along the x-axis ace0 >
x=-(28 ¥ 3¢ -5t) m, the ceeleration of the particle att= 2 sis,
/65 30m/s” * @)y 18ms® - (9)30 m/s® (d) -81 m/s®
7. The volurne ( #2=) of a sphere (2.5)as a fupction of time is given by V =
b2, The dimension ofb is, - ,
() L/T : Y LT (¢) THL? (OT/L
Fred from a horizontat rifle (Lade=a} Wit: initial

8. A builet ( lslapNas
velocity of 500 mfsona ?30Q m away

target aty equals,, :
b)-0.78m - (6) ~1.76 m (@) 176m
o the horizonial with a

target, (%) the bullet sirikes the

(2) 0.78 m-
9. A jumper-leaves the ground at an angle of 20 o fhe,
speed of 15 m./s. The time-needad fr the JUmpet to reach the maximum
height is, e T e
(2)3.8s . ®)83s X/{C) 0.5s (d) 038 s

. 10.For the jumper in previous problem, the maXimum: rengs ( 15—“3‘).'15,
(a) 2.9 m. (b)9.74 m. (c)}7.94m T4m
A2 —T¢ 718 1o 110

C A 2 |

Scanned with CamScanner




At

&
" ',)" ],Hv 5 ol -
e\ 2 P
!a" \ o 1 hour

i ™ LE an Ie Of'-
1 Yostol s a magaitade of m and MEKCSE7 / (@ +1.25n->
component equals 12m e sinj-kis, — P AR = \
(@ 2.1m théb) 2 ';!ectOI'S A=21+3' __k'-andGB" Ty l_ d) 6 '_;@H‘
ecn (c) 12 (60+0.5 ; ) - ?h

. The angle betw .

(a) 50 5 s v
The velocity of a €ar at any time i ,

2vcragé acceleration of the car bzetwecn t=1s and t"z ' ‘ (@1 mhs

& i tnsfantaneous acceleration at t=1s

a) 4m/s” : _
t(.I.JUg_Eng the equation of previous problem, 0
equals, : il 1 mvs” .

(a) 4m/s® ()3 wis” e ks cs(t?)ﬂ;z mpésmon of the ball after.2 5 1s,
5. A ball is dropped fro(x; -al gﬂf building fromr M -m. (&) —20m
a) 100m ' m . : a Sose  sew om @
) & iven A=3j-k and B=4i-5§+ 8k the ma"ft;qiﬂf?’/} R 9 20
4) 17 ’ (h)18 Bl 4e . e
S a car moving with x 22— 0.25 )m and y= (+0.025.)m, the distance of the car
Som the origin st =2 s iy - Wi : :
(8)2.1m t;/@/zz m (©)23m . (d)2.4m
8. A goat jumped off the edge of a cliff with a horizontal velocity equals 9 m/fs, the

sition at £=0.5 second is, -
(c) (4.5,-1.2)m (d) ~4.5,1.2)m

- (%,y) components of its 2
(@) (1.2,=4.5)m ((&1.2, 4.5)m
9.A player hits a ball with initial velocity of 37 m/s with an angle 53.1, the maximum

Q') height that the ball can reach is,
(a) 34.8m (h)84.3 m €)43.8m L4283 m
*  10. A long jumper leaves the ground at an arGle of 20 above the horizontal at a speed
of 11 m/s, his maximum range is, ) :
@9.74m }Fﬁm C (©497m @) 947 m

_ e
& e T s e ] 2

Nen “2A[3 cos @ ‘;‘;3: 5-33

AV
/?»—, A+ 2 « LA COSE
28912 1298+ 2093+ 3Y .25 .
~6:0) = 2Y.250¢0
Cose6= =nis4

Dl :
A =T e (B1= Therr
ik L

G- 100
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ed by the relation:

the x-axis is describ e re)
in the time interval t=0s to

1. The position of a particle moving along X (
x(t) = 2 — t°. The average acceleration (in m/s") of that parti

t=1sis-

(2)-9 O

A Af A=37-4], B=2i+3],nd C=i+2j
J

- o magnitude of — 4+ B+C is
®)5 () I ;@{

(d)-1

(a) 6.1
. 3” What iS,.ﬁl_c value of [10Kg] ? - o
@10 (L)L () 10L

cording to the equation x(@)=(- t? —3t+2)m. The

4. Mﬁx axis as
speed atZs? @Y (\ Spaal \ '

2)9 ®6 - (©)5 (@ -5
’s” A ball is thrown directly downward, with an initial speed of 4m/s, from a height_'of h

~"and takes 2gto reach the ground , what is the height of h ?
0 (b) 13 ©) 1; 4 (d) 69
artesian coordinates (5,’ 20) m . Determine its angle in

6. _K'points in the .ty plane have C
polar coordinates.
”’7./ A particle “Tnitially located at the origin has an acceleration of @ =3.0] m/s* and an

initial velocity of ¥,
ADI6E +6] (by 4i+6] (©) 4i+3] (dy3i+5]

_8 . A long-jumper leaves the ground at an angle of 40° above the horlzontal and at a-speed
£ 11.0 m/s. How far does he jump in the horizontal direction? / '

> /
— Y4 ®»s ©)s2
9.1f A=6f—3] then 24 has a magnitude of
(a)7 ) 15 (c) 19 (@22

—8.07 m/s. The vector position (in m) of the particle att=20sis

4

10. The direction of displacement depends on

(
(a) velocity - {b) distance . (c)force - \/ @ final and initial

| i
position . : @ e Vels
Vg =vi "L S

\vﬂls . ol % .
3 ) ._@——"Jﬁ, Y Lol
o . LAt o s -f—"“_" TN 5, g “. 8 o i35 e .
R oy : Tede o e =
[E R I \"&—’r‘_ogs.- ) 2 -‘i"w j
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